Episode 4 - Season 1

1.Mike wants to hack into Harvard’s system to put in his records. Why is that?

2. Why doesn’t Harvey want to get Jessica’s former husband’s case?

3. What was the pro bono case Mike got for winning the game?

4. Why is the pharmaceutical being prosecuted?

5. How did Harvey settle Quentin's case?
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Episode 4 - Season 1
answer key

1.Mike wants to hack into Harvard’s system to put in his records. Why is that?
Because he thinks Louis knows he didn't study Law there, and he wants to make sure
that the information is there when he checks for data.

2. Why doesn’t Harvey want to get Jessica’s former husband’s case?
Because he wouldn't feel comfortable working on a case where Jessica is personally
involved.

3. What was the pro bono case Mike got for winning the game?
He needs to prove his client's apartment is full of bedbugs, and the owner is neglecting
the situation.

4. Why is the pharmaceutical being prosecuted?
Because some patients developed side effects of the drug during the treatment, which
the company neglected

5. How did Harvey settle Quentin's case?

He offered partial ownership in the company while they keep working to fix the
problems with the medication.
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